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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 43+28=71 2) 312 +591 =903 3) 14+2=16
28+43=71 591 + 312 = 903 2+14=16 1
71-43=28 903-312=591 16-14=2
2.
A.71-28=28 A.903-591 =312 A.17-2=15
B.28+71=43 B. 904 - 591 = 313 B.15+2=17 3.
C.71+28=99 C.903-591 =591 C.16-14=14
D.71-28=43 D.903- 312 =312 D.16-2=14 4.
5.
4) 82+5=87 5) 794+ 193 =987 6) 7+6=13
5+82=87 193 + 794 = 987 6+7=13 6.
87-82=5 087 - 794 = 193 13-7=6
7.
A.87-5=82 A.193-987 = 794 A.6+13=7
B.5-87=82 B.987-193 =794 B.7+13=6 8.
C.82+87=5 C. 795 + 193 =988 C.13+6=19
D.87+5=92 D. 794 + 987 = 193 D.13-6=7 9.
10.
7) 7+78=85 8) 113+ 875=988 9 6+13=19
78+7=85 875 + 113 = 988 13+ 6= 19 1.
85-7=78 088 - 113=875 19-6=13
12.
A.8+78=86 A.875-988=113 A.19-13=6
B. 163- 7 =156 B. 875+ 988 =113 B.13-19=6
C.85-7=7 C.989-875=114 C.19-6=6
D.85-78=7 D.988 - 875=113 D.19+13=32
10) 90+7=97 11) 900 + 60 = 960 12) 2+17=19
7+90=097 60 + 900 = 960 17+2=19
97-90=7 960 - 900 = 60 19-2=17
A.98-7=91 A. 60 - 960 =900 A.19-17=2
B.97-7=90 B. 960 - 60 = 900 B.19-2=2
C.104-90=14 C. 900 + 960 = 60 C.3+17=20
D.97-7=7 D. 960 + 60 = 1020 D.19+17=36
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 43+28=71 2) 312+ 591 =903 3) 14+2=16
28+43=71 501 + 312 = 903 2+14=16 . _ D
71-43=28 903 - 312 =591 16-14=2
71-28=43 903 - 591 = 312 16-2=14 2. A
A.71-28=28 A.903-591 = 312 A.17-2=15
B.28+71=43 B. 904 - 591 = 313 B.15+2=17 3. D
C.71+28=99 C. 903 - 591 = 591 C.16-14=14
D.71-28=43 D.903- 312 = 312 D.16-2=14 4 A
5. B
4) 82+5=87 5) 794 + 193 = 987 6) 7+6=13
5+82=87 193 + 794 = 987 6+7=13 6. _D
87-82=5 987 - 794 = 193 13-7=6
87-5=82 987 - 193 = 794 13-6=7 7 D
A.87-5=82 A.193- 987 = 794 A.6+13=7
B.5-87=82 B. 987 - 193 = 794 B.7+13=6 8. D
C.82+87=5 C. 795 + 193 = 988 C.13+6=19
D.87+5=92 D. 794 + 987 = 193 D.13-6=7 9. A
10. B
7) 7+78=85 8) 113+ 875=988 9) 6+13=19
78+7=85 875+ 113 = 988 13+6=19 n_ B
85-7=78 988 - 113 =875 19-6=13
85-78=7 988 - 875 = 113 19-13=6 2 __ A
A.8+78=86 A.875-988 =113 A.19-13=6
B. 163 - 7 = 156 B. 875+ 988 = 113 B.13-19=6
C.85-7=7 C.989-875=114 C.19-6=6
D.85-78=7 D. 988 - 875 = 113 D.19+13=32
10) 90+7=97 11) 900 + 60 = 960 12) 2+17=19
7+90=97 60 + 900 = 960 17+2=19
97-90=7 960 - 900 = 60 19-2=17
97-7=90 960 - 60 = 900 19-17=2
A.98-7=01 A. 60 - 960 = 900 A.19-17=2
B.97-7=90 B. 960 - 60 = 900 B.19-2=2
C.104-90=14 C. 900 + 960 = 60 C.3+17=20
D.97-7=7 D. 960 + 60 = 1020 D.19+17=36
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